Tablica binomne razdiobe.

p=0,1 p=20,2 p=20,3 p=20,4 p=20,5
(nfa] fl@) [ Flo) [| flo) [ Fl2) | fla) | Fla) [| flx) [ Fl2) [ fla) | Fla) |
1101 0,9000 | 0,9000 || 0,8000 | 0,8000 || 0,7000 | 0,7000 {| 0,6000 | 0,6000 | 0,5000 | 0,5000
10,1000 | 1,0000 | 0,2000 | 1,0000 | 0,3000 | 1,0000 || 0,4000 | 1,0000 || 0,5000 | 1,0000
2|0 | 0,8100 | 0,8100 || 0,6400 | 0,6400 || 0,4900 | 0,4900 || 0,3600 | 0,3600 || 0,2500 | 0,2500
10,1800 | 0,9900 | 0,3200 | 0,9600 | 0,4200 | 0,9100 || 0,4800 | 0,8400 || 0,5000 | 0,7500
2| 0,0100 | 1,0000 || 0,0400 | 1,0000 || 0,0900 | 1,0000 || 0,1600 | 1,0000 || 0,2500 | 1,0000
310 0,7290 | 0,7290 || 0,5120 | 0,5120 || 0,3430 | 0,3430 || 0,2160 | 0,2160 || 0,1250 | 0,1250
1 10,2430 | 0,9720 || 0,3840 | 0,8960 | 0,4410 | 0,7840 || 0,4320 | 0,6480 || 0,3750 | 0,5000
2 10,0270 | 0,9990 || 0,0960 | 0,9920 || 0,1890 | 0,9730 || 0,2880 | 0,9360 || 0,3750 | 0,8750
3 | 0,0010 | 1,0000 || 0,0080 | 1,0000 || 0,0270 | 1,0000 || 0,0640 | 1,0000 || 0,1250 | 1,0000
410 |0,6561 | 0,6561 || 0,4096 | 0,4096 || 0,2401 | 0,2401 || 0,1296 | 0,1296 || 0,0625 | 0,0625
10,2916 | 0,9477 || 0,4096 | 0,8192 | 0,4116 | 0,6517 || 0,3456 | 0,4752 || 0,2500 | 0,3125
2] 0,0486 | 0,9963 || 0,1536 | 0,9728 || 0,2646 | 0,9163 || 0,3456 | 0,8208 || 0,3750 | 0,6875
3 | 0,0036 | 0,9999 || 0,0256 | 0,9984 || 0,0756 | 0,9919 || 0,1536 | 0,9744 || 0,2500 | 0,9375
4 | 0,0001 | 1,0000 (| 0,0016 | 1,0000 || 0,0081 | 1,0000 | 0,0256 | 1,0000 || 0,0625 | 1,0000
51 0| 0,5905 | 0,5905 || 0,3277 | 0,3277 || 0,1681 | 0,1681 || 0,0778 | 0,0778 || 0,0313 | 0,0313
10,3281 | 0,9185 || 0,4096 | 0,7373 | 0,3602 | 0,5282 || 0,2592 | 0,3370 || 0,1563 | 0,1875
2 10,0729 | 0,9914 || 0,2048 | 0,9421 || 0,3087 | 0,8369 | 0,3456 | 0,6826 || 0,3125 | 0,5000
3 | 0,0081 | 0,9995 || 0,0512 | 0,9933 || 0,1323 | 0,9692 || 0,2304 | 0,9130 || 0,3125 | 0,8125
4 | 0,0005 | 1,0000 (| 0,0064 | 0,9997 || 0,0284 | 0,9976 | 0,0768 | 0,9898 || 0,1563 | 0,9688
5 | 0,0000 | 1,0000 || 0,0003 | 1,0000 || 0,0024 | 1,0000 || 0,0102 | 1,0000 || 0,0313 | 1,0000
6| 0| 0,5314 | 0,5314 || 0,2621 | 0,2621 || 0,1176 | 0,1176 || 0,0467 | 0,0467 || 0,0156 | 0,0156
1 10,3543 | 0,8857 || 0,3932 | 0,6554 | 0,3025 | 0,4202 || 0,1866 | 0,2333 || 0,0938 | 0,1094
2 10,0984 | 0,9842 || 0,2458 | 0,9011 || 0,3241 | 0,7443 || 0,3110 | 0,5443 || 0,2344 | 0,3438
3| 0,0146 | 0,9987 || 0,0819 | 0,9830 || 0,1852 | 0,9295 || 0,2765 | 0,8208 || 0,3125 | 0,6563
4 10,0012 | 0,9999 || 0,0154 | 0,9984 || 0,0595 | 0,9891 | 0,1382 | 0,9590 || 0,2344 | 0,8906
5 | 0,0001 | 1,0000 || 0,0015 | 0,9999 || 0,0102 | 0,9993 | 0,0369 | 0,9959 || 0,0938 | 0,9844
6 | 0,0000 | 1,0000 || 0,0001 | 1,0000 || 0,0007 | 1,0000 || 0,0041 | 1,0000 || 0,0156 | 1,0000
71004783 | 0,4783 || 0,2097 | 0,2097 || 0,0824 | 0,0824 || 0,0280 | 0,0280 || 0,0078 | 0,0078
10,3720 | 0,8503 || 0,3670 | 0,5767 | 0,2471 | 0,3294 || 0,1306 | 0,1586 || 0,0547 | 0,0625
2 | 0,1240 | 0,9743 || 0,2753 | 0,8520 || 0,3177 | 0,6471 || 0,2613 | 0,4199 || 0,1641 | 0,2266
3 | 0,0230 | 0,9973 || 0,1147 | 0,9667 || 0,2269 | 0,8740 || 0,2903 | 0,7102 || 0,2734 | 0,5000
4 10,0026 | 0,9998 || 0,0287 | 0,9953 || 0,0972 | 0,9712 || 0,1935 | 0,9037 || 0,2734 | 0,7734
5 | 0,0002 | 1,0000 || 0,0043 | 0,9996 || 0,0250 | 0,9962 || 0,0774 | 0,9812 || 0,1641 | 0,9375
6 | 0,0000 | 1,0000 || 0,0004 | 1,0000 || 0,0036 | 0,9998 | 0,0172 | 0,9984 || 0,0547 | 0,9922
7 | 0,0000 | 1,0000 (| 0,0000 | 1,0000 {| 0,0002 | 1,0000 || 0,0016 | 1,0000 || 0,0078 | 1,0000
81| 0| 0,4305 | 0,4305 || 0,1678 | 0,1678 || 0,0576 | 0,0576 || 0,0168 | 0,0168 || 0,0039 | 0,0039
10,3826 | 0,8131 || 0,3355 | 0,5033 || 0,1977 | 0,2553 || 0,0896 | 0,1064 || 0,0313 | 0,0352
2] 0,1488 | 0,9619 || 0,2936 | 0,7969 || 0,2965 | 0,5518 || 0,2090 | 0,3154 || 0,1094 | 0,1445
3 10,0331 | 0,9950 || 0,1468 | 0,9437 || 0,2541 | 0,8059 || 0,2787 | 0,5941 || 0,2188 | 0,3633
4 | 0,0046 | 0,9996 || 0,0459 | 0,9896 || 0,1361 | 0,9420 || 0,2322 | 0,8263 || 0,2734 | 0,6367
5 | 0,0004 | 1,0000 || 0,0092 | 0,9988 || 0,0467 | 0,9887 || 0,1239 | 0,9502 || 0,2188 | 0,8555
6 | 0,0000 | 1,0000 || 0,0011 | 0,9999 || 0,0100 | 0,9987 || 0,0413 | 0,9915 || 0,1094 | 0,9648
7 | 0,0000 | 1,0000 || 0,0001 | 1,0000 || 0,0012 | 0,9999 | 0,0079 | 0,9993 | 0,0313 | 0,9961
8 | 0,0000 | 1,0000 || 0,0000 | 1,0000 || 0,0001 | 1,0000 || 0,0007 | 1,0000 || 0,0039 | 1,0000




